
Remark 1 • U means a Uniform(0, 1) distribution, E is an Exponential dis-
tribution, U and E are independent.

• S is for a law independent from U such that P [S = 0] = P [S = 1] = 1/2.

• Z stands for the Gaussian law and Gp represents the Gamma(1/p, p) law.

• Average Uniform law is also called Bates(k, a, b). In Quesenberry (1977),
it is AveUnif(k + 1, 0, 1).

• We go from GeneralizedPareto(µ, σ, ξ) to Pareto(a, k) by letting µ = k,
ξ = a−1 and σ = ka−1.

• We go from GeneralizedPareto(µ, σ, ξ) to a shifted Pareto by letting µ = 0,
ξ = 1/2 and σ = 1/2.

• We go from JSU(µ, σ, ν, τ) to JSB(g, d) by letting τ = d, ν = −g, σ = c−1

=
[
(ed

2 − 1)(ed
2

cosh(2g/d) + 1)/2
]−1/2

and µ = −
√
ed2 sinh(g/d).

• We go from GED(µ, σ, p) to GED(λ) by letting µ = 0, p = λ and σ =
1

λ1/λσ
with Cλ =

√
Γ(3λ−1)/Γ(λ−1).

• Variance of V Unif(j) is given by:

Var(Yj) =
1

12(j + 1)
− 1

4
+

1

(j + 1)!

j+1∑
k=0

(−1)k
(
j + 1

k

)
∗{

(−1)j+1 kj+2

(j + 1)(j + 2)
− sign(k − j + 1

2
)

(
j + 1

2
− k

)(j+1) [
1

j + 2

(
j + 1

2
− k

)
+

k

j + 1

]}
.

where sign(0) = −1.
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